2 | 3 4 5 l 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM: LIST A NEW RELEASE LJH 10/26/05’ ~ LJC 10/26/05’
ITEM PART NAME Q'ty NOTES B $5 9 ] T YCH 09/13/07’ ~
54.0 1 PLASTIC HOOD 2 ABS
5 | 21| LONG BOLT 2 #4—40
AL ' 2.2| SHORT BOLT 2 #4-40
11.0 ‘ 3 NUT 2 M3
| | 4 LONG SCREW PEE ITEM: DSUB PLASTIC CASE (DP /DPT -25Q)
-[tl]: ' :Fﬂ 5 SMALL WASHER 2
C . 7 6 SHORT SCREW 2 M3
| 7.1| METAL WASHER 2 M3 2 ti
7 |7.2| PLASTIC—1 WASHER 2 ABS a5 4—40 UNC
7.3| PLASTIC—2 WASHER 2 ABS 4 \1.8
8.0 Y | p— i
] T 1.0 E;_ 5.5
| 6.7
i Short BOLT
! 3
’ ] 1
AN <H |
<H | M3
| = 4
J: ! - 13.5
| j UNT t=2.3mm M3
G & . ) N\
| (———1
40.8 LONG SCREW

SMALL WASHER

| ~~7 | 6
Lso ] | - K{f

__ =3

- SN I _
14.0 &é\ )
2 i I~ o
] I I E 1
| 7 m@o

92.30

SHORT SCREW

1.1 ¢3.05

' AN S2020 SR RN 0 GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION —F [TITLE
I @ D—SUB 25pin Hood Chromium plated
|40, . UNITS mm
6.6 © . X. %0.60 X. 5
135 3 3 X £0.38 X 3 SHEET SIZE A4 SERIES | DS1046 SERIES
] e XX £0.25 XX 22
44 DRAWING TYPE [COSTOMER

DRAWING NO. | C—DS1046—25XXXX

Long BOLT SCALE 1:1 [SHEET |1 OF 1 RUI CHI
[ 7 [

2 l 3 4 | 5 6




